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NEW QUESTION 1

A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing

commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty

D. Press the TAB key to reprint the command in a new line

E. increase the number of lines on the screen using the terminal length command

Answer: CD

NEW QUESTION 2
Refer to the exhibit.

<?7xm! wvarsion="1.[ ancoding="utf-49° 2>

<data xmlns="urn:ietf:params:xml:ns:natconf:base:1.0"/>

What does the error message relay to the administrator who is trying to configure a Cisco I0S device?

A. A NETCONF request was made for a data model that does not exist.

B. The device received a valid NETCONF request and serviced it without error.

C. ANETCONF message with valid content based on the YANG data models was made, but the request failed.
D. The NETCONF running datastore is currently locked.

Answer: A

Explanation:
Missing Data Model RPC Error Reply Message

'4 - o . - - . . - . - " + y [ P ey N i |
If a request i1s made for 2 data model that doesn 't exist on the Catalyst 3

response. This is expected behavior

z en the METOIME ~rarmakilitiac fimetinmalito $mom e LT
p Tip LIse the NETCONF capabilities fu 1ictionailty 1o determine wWhnic

NEW QUESTION 3
Which devices does Cisco DNA Center configure when deploying an IP-based access control policy?

A. All devices integrating with ISE
B. selected individual devices

C. all devices in selected sites

D. all wired devices

Answer: A

Explanation:

When you click Deploy, Cisco DNA Center requests the Cisco Identity Services Engine (Cisco ISE) to send notifications about the policy changes to the network

devices.

NEW QUESTION 4

While configuring an 10S router for HSRP with a virtual IP of 10 1.1.1. an engineer sees this log message.
A. Change the HSRP group configuration on the remote router to 1.

B. Change the HSRP group configuration on the local router to 1.

C. Change the HSRP virtual address on the remote router to 10.1.1.1

D. Change the HSRP virtual address on the local router to 10.1.1.1

Answer: B

NEW QUESTION 5
Refer to the exhibit.
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Swié show interfaces gigabitethernet 0/0 switchport

% PC1

Vian200

Vian200

Gel)/2

Gl

Switchport: Enabled Gel?

Mode: ti Vian100

PC3

Rcoceas Mode VLARN: {dafault)

Adminfatracive Hatiy VLAN Ttagging: enabled

Gald/1 é

Geli)

Vian100

The connecting between SW1 and SW2 is not operational. Which two actions resolve the issue? (Choose two)

A. configure switchport mode access on SW2

B. configure switchport nonegotiate on SW2

C. configure switchport mode trunk on SW2

D. configure switchport nonegotiate on SW1

E. configure switchport mode dynamic desirable on SW2

Answer: CE

NEW QUESTION 6

Which AP mode allows an engineer to scan configured channels for rogue access points?

A. sniffer
B. monitor
C. bridge
D. local

Answer: B

NEW QUESTION 7

A company plans to implement intent-based networking in its campus infrastructure. Which design facilities a migrate from a traditional campus design to a

programmer fabric designer?
A. Layer 2 access

B. three-tier

C. two-tier

D. routed access

Answer: C

NEW QUESTION 8

Which measurement is used from a post wireless survey to depict the cell edge of the access points?

A. SNR
B. Noise
C. RSSI
D. CClI

Answer: A

NEW QUESTION 9
Refer to the exhibit.
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RIdshow atandby
FastEcharnetl/O = Group 5
State i3 Rotive
i atate changes, last scate change CO0:04:02
Virtual IF acdress ip 10.10.1.1
Aective vircual MAC sddcens Lp 0000.0c07.ac32 IMAL I se)
Local victual MAC addzess i 0000 =0T.acdd (vl defaulc)
Halle time J sec, hold time 10 sec
Hext hellc sent in 1.%04 »ecs
F:eemption ehabled, delay zelcad % secs
ACTive router L» local
Standby router is unknown
Friozity 400 cenfigured 200)
Track intesface FastEchernecd/0 atate Up decrement
Sroup name iy “harp-Tal $0* (default
T
AIP-4-DUFADDR: Duplicate address 10.10.1.1 of Fastithernetl/0, adurced by CO000.0c07.ac28
R

An engineer configures a new HSRP group. While reviewing the HSRP status, the engineer sees the logging message generated on R2. Which is the cause of the
message”?

A. The same virtual IP address has been configured for two HSRP groups
B. The HSRP configuration has caused a spanning-tree loop

C. The HSRP configuration has caused a routing loop

D. A PC is on the network using the IP address 10.10.1.1

Answer: A

NEW QUESTION 10
What are two benefits of virtual switching when compared to hardware switching? (Choose two.)

A. increased MTU size

B. hardware independence

C. VM-level isolation

D. increased flexibility

E. extended 802.1Q VLAN range

Answer: CD

NEW QUESTION 10
An engineer must provide wireless converge in a square office. The engineer has only one AP and believes that it should be placed it in the middle of the room.
Which antenna type should the engineer use?

A. directional

B. polarized

C. Yagi

D. omnidirectional

Answer: D

NEW QUESTION 12
A network administrator has designed a network with two multilayer switches on the distribution layer, which act as default gateways for the end hosts. Which two
technologies allow every end host in a VLAN to use both gateways? (Choose two)

A. GLBP
B. HSRP
C. MHSRP
D. VSS

E. VRRP

Answer: CE

NEW QUESTION 13

What is YANG used for?

A. scraping data via CLI

B. processing SNMP read-only polls

C. describing data models

D. providing a transport for network configuration data between client and server
Answer: C

NEW QUESTION 18
Refer to Exhibit.
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Router A
GRE Tunnel Rner <
Router B g

Host X Hnst Y

MTU has been configured on the underlying physical topology, and no MTU command has been configured on the tunnel interfaces. What happens when a
1500-byte IPv4 packet traverses the GRE tunnel from host X to host Y, assuming the DF bit is cleared?

A. The packet arrives on router C without fragmentation.
B. The packet is discarded on router A

C. The packet is discarded on router B

D. The packet arrives on router C fragmented.

Answer: D

Explanation:
Text Description automatically generated

Like any protocol, using GRE adds a few bytes to the size of data packets. This must be factored into the
MSS and MTU settings for packets. If the MTU is 1,500 bytes and the MSS is 1,460 bytes (to account for
the size of the necessary IP and TCP headers), the addition of GRE 24-byte headers will cause the
packets to exceed the MTU:

] | Eme (e dmm s 4 M himae (T - ¥ Y s Aae I - H] = T O A - Iy i . 1 ==
460 bytes [payload] + 20 bytes [TCP header] + 20 bytes {IP header] + 24 bytes [GRE header + IP header] =

- -

524 bytes

As a result, the packets will be fragmented. Fragmentation slows down packet delivery times and
Increases how much compute power is used, because packets that exceed the MTU must be broken

down and then reassembled.

NEW QUESTION 22
Refer to the exhibit.

Router2# show policy-map control-plane

Control Plane
Service-policy input:CISCO
Class-map:CISCO (match-all)
20 packets, 11280 bytes
5 minute offered rate 0 bps, drop rate 0 bps
Match:access-group 120
police:
8000 bps, 1500 limit, 1500 extended limit
conformed 15 packets, 6210 bytes; action:transmit
exceeded 5 packets, 5070 bytes. action:drop
violated 0 packets, O bytes; action:drop
conformed 0 bps, exceed 0 bps, violate 0 bps
Class-map:class-default (match-any)
105325 packets, 11415151 bytes
5 minute offered rate 0 bps, drop rate 0 bps
Match:any

An engineer configures CoPP and enters the show command to verify the implementation. What is the result of the configuration?

A. All traffic will be policed based on access-list 120.

B. If traffic exceeds the specified rate, it will be transmitted and remarked.
C. Class-default traffic will be dropped.

D. ICMP will be denied based on this configuration.

Answer: A

NEW QUESTION 25

Which two operations are valid for RESTCONF? (Choose two.)
A. HEAD

B. REMOVE
C. PULL
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D. PATCH
E. ADD
F. PUSH

Answer: AD

Explanation:

RESTCONF operations include OPTIONS, HEAD, GET, POST, PATCH, DELETE.
NEW QUESTION 28

What is a consideration when designing a Cisco SD-Access underlay network?

A. End user subnets and endpoints are part of the underlay network.

B. The underlay switches provide endpoint physical connectivity for users.

C. Static routing is a requirement,

D. It must support IPv4 and IPv6 underlay networks

Answer: A

NEW QUESTION 31

Which AP mode allows an engineer to scan configured channels for rogue access points?
A. sniffer

B. monitor

C. bridge

D. local

Answer: B

NEW QUESTION 35

Which method creates an EEM applet policy that is registered with EEM and runs on demand or manually?

A. event manager applet ondemand event registeraction 1.0 syslog priority critical msg 'This is a message from ondemand'
B. event manager applet ondemand event manualaction 1.0 syslog priority critical msg 'This is a message from ondemand'
C. event manager applet ondemand event noneaction 1.0 syslog priority critical msg 'This is a message from ondemand’
D. event manager applet ondemandaction 1.0 syslog priority critical msg 'This is a message from ondemand'

Answer: C

Explanation:

An EEM policy is an entity that defines an event and the actions to be taken when that event occurs. There are two types of EEM policies: an applet or a script. An
applet is a simple form of policy that is defined within the CLI configuration. answer ‘event manager applet ondemand event register

action 1.0 syslog priority critical msg ‘This is a message from ondemand’
<="" p="" style="box-sizing: border-box;">

There are two ways to manually run an EEM policy. EEM usually schedules and runs policies on the basis of an event specification that is contained within the
policy itself. The event none command allows EEM to identify an EEM policy that can be manually triggered. To run the policy, use either the action policy

command in applet configuration mode or the event manager run command
in privileged EXEC mode.

NEW QUESTION 39
Refer to the exhibit.
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A network engineer is configuring OSPF between router R1 and router R2. The engineer must ensure that a DR/BDR election does not occur on the Gigabit

Ethernet interfaces in area 0. Which configuration set accomplishes this goal?
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A)

R1(config-if)interface Gi0/0 . _
R1(conhg-flip ospf network point-to-point

R2{config fjinterface Gi0/0 | _
R2(configaf)ip ospf network point-to-point

B)

R1(conhg-finterface Gi0lo
R1(configf)ip ospf network broadcast

R2(config-fjinterface Gi0/0
R2(config1f)ip ospf network broadcast

C)

R1iconfia-finterface Gi0/0
onfig flip ospf database-filter all out

' L
e

R conteg finterface Gi0/0 .
config-fip ospf database-filter all out

D)

&1 ronta o interface Gi0/0
“ip ospf prionty 1

miconfa- imerface Gi0/0
F2 (cnami 4t ip ospf pnonty 1

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation:

Broadcast and Non-Broadcast networks elect DR/BDR while Point-topoint/ multipoint do not elect DR/BDR. Therefore we have to set the two Gi0/0

interfaces to point-to-point or point-to-multipoint network to ensure that a DR/BDR election does not occur.

NEW QUESTION 42
Which LISP component is required for a LISP site to communicate with a non-LISP site?

A.ETR
B.ITR
C. Proxy ETR
D. Proxy ITR

Answer: C

NEW QUESTION 45
Refer to the exhibit

{

“Cisco-105-XE-native GigabitEthamat™, |
“name™ 1"

Wi |

“forwarding™ "MANAGEMENT"

]

u.:lll. :

“address" [

“primary™ |

“address™ "100.0.1517
"mask” "255 255 255 [V

H
)
I

"mop’ {

“enabled™ false

i

"Ciseo-105-XE-atheinet npgatiation™ |
“aulo” true

]

]

]

Drag and drop the snippets into the RESTCONF request to form the request that returns this response Not all options are used
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URL - h::?:ff¢L_4u,1u,;uﬁrastc:n:rapig:;nnir;;nat;vaf

Body- N/A
Headers- application/vnd.yang.data+json
Authentication-privileged level 15 credentials
: '| - e
POST | Accept Cisco-105-XE
]
interface/GigabtEthernet/ 1/ GET PUT

A. Mastered
B. Not Mastered

Answer: A

Explanation:

URL - htep://10.10.10.10/restconf/api/running/native/|interface/GigabitEthernet/1/

HTTP Verb- GET
Body- N/A
Headers- Accept -application/vnd.yvang.data+3ison

Authentication-privileged level 15 credentials

POST Cisco-105-XE

PUT

NEW QUESTION 46
In a wireless Cisco SD-Access deployment, which roaming method is used when a user moves from one access point to another on a different access switch
using a single WLC?

A. Layer 3

B. inter-xTR
C. auto anchor
D. fast roam

Answer: D

NEW QUESTION 49
In cisco SD_WAN, which protocol is used to measure link quality?

A. OMP
B. BFD
C. RSVP
D. IPsec

Answer: B

NEW QUESTION 54

“HTTP/1.1 204 content” is returned when cur —| —x delete command is issued. Which situation has occurred?
A. The object could not be located at the URI path.

B. The command succeeded in deleting the object

C. The object was located at the URI, but it could not be deleted.
D. The URI was invalid
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Answer: B

NEW QUESTION 58
What is the function of cisco DNA center in a cisco SD-access deployment?

A. It is responsible for routing decisions inside the fabric

B. It is responsible for the design, management, deployment, provisioning and assurance of the fabric network devices.

C. It possesses information about all endpoints, nodes and external networks related to the fabric
D. It provides integration and automation for all nonfabric nodes and their fabric counterparts.

Answer: B

NEW QUESTION 63
Drag and drop the virtual components from the left onto their deceptions on the right.

- ¢ file connectg @ el machre
L liQguradon hl and 8 ~rfus dea
[ 70 1 fle conlaing 8 vwWhel Tactere Al deee

i n-h,,|-| dme P gL WU |

VNDS il oS such By ol 05
- o ® of 8 vl macihe Melporniiee
7 o sending palkets o e Pyperviso?
A. Mastered
B. Not Mastered
Answer: A
Explanation:
P op Tie conrecLing o virtuel machine
L sefigaration Me asd & virtual Sk
O'a file contaerg a victual machire Ak frove
MO configuraton fle contarsng settings for a
virtiugd machane fuch a3 Qe 0D
- omporert of 8 wriual machine regporuble
. for sendhng packets Lo the hypervpor
NEW QUESTION 67
Refer to the exhibit. B B -
[P
Tl Fe— "

Progrw @ duigdegy Bt 0 gy
B 1 1 (L2

C NN J (41!
& bl 3 ¥ (LT

Which set of commands on router r R1 Allow deterministic translation of private hosts PC1, PC2, and PC3 to addresses in the public space?

A)

outerR 1(config Wnt 100

outerR 1(config-f)i#®p nat inside

outerR 1(config-f)Sexit

outerR 1(config nt 101

outerRR 1(config-fp nal outside

outerR 1(config-f)Sexit

outerR 1{confg Wip nat ins«de source statc 10 10 10.101 155 1.1.101
outerR 1 (config i nal inside source statc 10 10 10 102 155.1 1. 102
outerR 1(config W nat inside source statc 10 10 10.103 155 1.1 103

B)
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outerR 1(config nt 100
outerR 1(config-f®ip nat inside
outerR 1 (config-ifSexit
1(config nt V1

outerR 1({config-f)#p nat outside
outerR 1(config-)8exit

terR 1{config iy nat nsde source stabc 10 10 10 101 155 1 1,101
outerR 1(config Wip nat inssde source statc 10.10 10.102 155.1.1. 102
outerR 1(config Wip nat inside source statc 10 10.10 103 155 1 1. 103

C)

RouterR 1(config want 100

RouterR 1(config-f o nat ins«de

RouterR 1(config-f sext

RouterR 1(config mnt 101

RouterR 1(config-/p nat outside

RouterR 1(config- j#ext

RouterR 1(config @access-bst 1 10.10.10 0 0.0 0.255

RouterR 1{config )ip nat pool POOL 1551 1.101 155 1 1,100 netmask 295 245 258 0
RouterR 1(config p nat inside source kst 1 pool POOL

D)

RouterR 1(config#nt 100

RouterR 1(config-f)#ip nat ins:de

RouterR 1(config-if j#exit

RouterR 1(configmnt iV 1

RouterR 1(config-f)ip nat outside

RouterR 1(config-f)#exit

RouterR 1{config waccess-ist 1 10.10.10.00.0.0.255

RouterR 1(config kp nat inside source kst 1 interface 10/1 overioad

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 71
Refer to the exhibit.

ip vrf BLUE

rd 1:1

|

interface Vlianl(d

description GLOBAL_ INTERFACE

ip address 10.10.1.254 255.255.255.0
]
access-list 101 permit ip 10.10.5.0 0.0.0.255 10.10.1.0
255.255.255.0

!
route-map VRF_TO GLOBAL permit 10
match ip address 101
sat global

]

interface VianSo00

description VRF_BLUE

ip vrf forwarding BLUE

ip address 10.10.5.254 255.255.255.0
ip policy route-map VRF_TO_GLOBAL

An engineer attempts to create a configuration to allow the Blue VRF to leak into the global routing table, but the configuration does not function as expected.
Which action resolves this issue?

A. Change the access-list destination mask to a wildcard.

B. Change the source network that Is specified in access-list 101.
C. Change the route-map configuration to VRF_BLUE.

D. Change the access-list number in the route map

Answer: A

NEW QUESTION 72
Refer to the exhibit.
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asa new-model
asa suthentication login default local-case enable
aaa muthencleation legin ADMIN local-case
username CCHF secret StrlingPlsawlrd!
Line O 4

legin authentication ADMIN

An engineer must create a configuration that executes the show run command and then terminates the session when user CCNP legs in. Which configuration
change is required"”

A. Add the access-class keyword to the username command

B. Add the access-class keyword to the aaa authentication command
C. Add the autocommand keyword to the username command

D. Add the autocommand keyword to the aaa authentication command

Answer: C

Explanation:

The autocommand causes the specified command to be issued automatically after the user logs in. When the command is complete, the session is terminated.
Because the command can be any length and can contain embedded spaces, commands using the autocommand keyword must be the last option on the line. In
this specific question, we have to enter this line username CCNP autocommand show running-config.

NEW QUESTION 77
An engineer is implementing a Cisco MPLS TE tunnel to improve the streaming experience for the clients of a video-on-demand server. Which action must the
engineer perform to configure extended discovery to support the MPLS LDP session between the headend and tailend routers?

A. Configure the interface bandwidth to handle TCP and UDP traffic between the LDP peers
B. Configure a Cisco MPLS TE tunnel on both ends of the session

C. Configure an access list on the interface to permit TCP and UDP traffic

D. Configure a targeted neighbor session.

Answer: B

NEW QUESTION 80
Refer to the exhibit.

An engineer is installing a new pair of routers in a redundant configuration. Which protocol ensures that traffic is not disrupted in the event of a hardware failure?

A. HSRPv1
B. GLBP
C. VRRP
D. HSRPv2

Answer: A

Explanation:
The virtual MAC address is 0000.0c07.acXX (XX is the hexadecimal group number) so it is using HSRPv1. Note: HSRP Version 2 uses a new MAC address which
ranges from 0000.0C9F.F000 to 0000.0C9F.FFFF.

NEW QUESTION 83
How is MSDP used to interconnect multiple PIM-SM domains?

A. MSDP depends on BGP or multiprotocol BGP for mterdomam operation

B. MSDP SA request messages are used to request a list of active sources for a specific group
C. SDP allows a rendezvous point to dynamically discover active sources outside of its domain
D. MSDP messages are used to advertise active sources in a domain

Answer: A

NEW QUESTION 88

Which network devices secure API platform?
A. next-generation intrusion detection systems
B. Layer 3 transit network devices

C. content switches

D. web application firewalls

Answer: A
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NEW QUESTION 92

An engineer must configure HSRP group 300 on a Cisco |0OS router. When the router is functional, it must be the must be the active HSRP router. The peer router
has been configured using the default priority value. Which command set is required?

A)

standby 300 priority 110
standby 300 timers 1 110

B)

standby version 2
standby 300 priority 110
standby 300 preempt

C)

standby 300 priority 90
standby 300 preempt

D)

standby version 2
standby 300 priority 90
standby 300 preempt

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 97
An engineer runs the code against an API of Cisco DMA Center, and the platform returns this output What does the response indicate?

import requests
import sys
import urllib3

urllib3d.disable_warnings(urllib3.exceptions.InsecureRequestiarning)

def main():
device_uri = "https://192.168 1. 1/dnajsystemfaplivi/authitoken™
http_result = requests.get(device_url, auth=("root"”, "test388586070!"7)
print{http_result)
if http_resultstatus_code != requests.codes.ok:
print{"Call falled! Review get_token() . *)
sys.exit()
print(http_resultson()["Token'])

if _name_=="_main_""
sys.exit(main())

Qunut

? python get_token.py
<Response [405)>

Call failed! Review get_token ().

A. The authentication credentials are incorrect
B. The URI string is incorrect.

C. The Cisco DNA Center API port is incorrect
D. The HTTP method is incorrect

Answer: A

NEW QUESTION 99
Which exhibit displays a valid JSON file?
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"ho=stnam=": "adge routec 17

"interfaces"™: |
"CigabitEthernetl/ 1"
"GigabitEthernetl/s2"%
"CigabitEthernetl /3"

"hostname®™: "edge_router 1%,

"interfaces": |
rnidabitErtharaat 1.1 et
"igabitEthernstl/ 2",
"CigabitEthernetl /3",

"hostname®™: "edge router 1%

minterfaces™: [
"GigablitEthernet 171"
*"GigabitEthernetl1 /2"
"FigabitEthernstl/3"

=l
Thosthndame™: "aedoge roubar | Lk
*"interfaces™: |
"CigabitErthernatl /1™,
"GigabitEthernetl/s 2",
"GCigabitEthernetl /3"
1
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 103

Drag and drop the characteristics from the left onto the routing protocols they describe on the right.

EIGRP
supports virtual links
can automatically summanze networks at the boundary
DSPF
requires manual configuration of network summanzation
A. Mastered
B. Not Mastered
Answer: A
Explanation:
EIGRP

Supports virtual links \

can automabcally summanzé networks boundary

requires

manual configuration of network summanza

NEW QUESTION 104

What is one difference between saltstack and ansible?

A. SaltStack uses an API proxy agent to program Cisco boxes on agent mode, whereas Ansible uses a Telnet connection
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B. SaltStack uses the Ansible agent on the box, whereas Ansible uses a Telnet server on the box
C. SaltStack is constructed with minion, whereas Ansible is constructed with YAML
D. SaltStack uses SSH to interact with Cisco devices, whereas Ansible uses an event bus

Answer: A

NEW QUESTION 107

An engineer has deployed a single Cisco 5520 WLC with a management IP address of 172.16.50.5/24. The engineer must register 50 new Cisco AIR-CAP2802I-E-
K9 access points to the WLC using DHCP option 43. The access points are connected to a switch in VLAN 100 that uses the 172.16.100.0/24 subnet. The
engineer has configured the DHCP scope on the switch as follows:

Metwork 172.16.100.0 255 255 2550
Default Router 172.16.100.1
Option 43 Ascii 172 .16.50.5

The access points are failing to join the wireless LAN controller. Which action resolves the issue?

A. configure option 43 Hex F104.AC10.3205
B. configure option 43 Hex F104.CA10.3205
C. configure dns-server 172.16.50.5

D. configure dns-server 172.16.100.1

Answer: B

NEW QUESTION 109

What is one benefit of implementing a VSS architecture?

A. It provides multiple points of management for redundancy and improved support
B. It uses GLBP to balance traffic between gateways.

C. It provides a single point of management for improved efficiency.

D. It uses a single database to manage configuration for multiple switches
Answer: D

NEW QUESTION 112
Refer to the exhibit.

username admin privilege 15 password @ C1s5¢0l13579|

aaa new-model

daa authentication login default local

aaa authentication enable default none

aaa common-criteria policy Administrators
min 1‘"”d"|' 1
max-length 127
char-changes 4
lifetime month 2

A network engineer must configure a password expiry mechanism on the gateway router for all local passwords to expire after 60 days. What is required to
complete this task?

A. The password expiry mechanism is on the AAA server and must be configured there.

B. Add the aaa authentication enable default Administrators command.

C. Add the username admin privilege 15 common-criteria*policy Administrators password 0 Cisco13579! command.
D. No further action Is require

E. The configuration is complete.

Answer: A

NEW QUESTION 114
Refer to the exhibit.

= &)

An engineer attempts to configure a trunk between switch swl and switch SW2 using DTP, but the trunk does not form. Which command should the engineer
apply to switch SW2 to resolve this issue?

A. switchport mode dynamic desirable
B. switchport nonegotiate

C. no switchport

D. switchport mode access

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 350-401 Dumps From Exambible
exam blbk—.‘ https://www.exambible.com/350-401-exam/ (619 Q&AS)

Answer: A

NEW QUESTION 117
An engineer measures the Wi-Fi coverage at a customer site. The RSSI values are recorded as follows:

* Locauon A -72 dBn
®* Locanon | 5 dbdim
* | ocation e dE
- Cat y i

Which two statements does the engineer use to explain these values to the customer? (Choose two)

A. The signal strength at location C is too weak to support web surfing

B. Location D has the strongest RF signal strength

C. The RF signal strength at location B is 50% weaker than location A

D. The signal strength at location B is 10 dB better than location C

E. The RF signal strength at location C is 10 times stronger than location B

Answer: BE

NEW QUESTION 119
Which two components are supported by LISP? (Choose two.)

A. Proxy ETR

B. egress tunnel router
C. route reflector

D. HMAC algorithm

E. spoke

Answer: AB

NEW QUESTION 122
An engineer is working with the Cisco DNA Center API Drag and drop the methods from the left onto the actions that they are used for on the right.

r =

GET | | remove an element using the API
POST I update an slement
1
) |
.
|

DELETE ] extract intormation from the API

Kl | Create an eiement

A. Mastered
B. Not Mastered

Answer: A
Explanation:
DELETE
PUT
POST

NEW QUESTION 126
Refer to the exhibit.
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Tunnel100 is up, line protocol is up
Hardware is Tunnel
Internet address is 192.168.200.1/24
| MTU 17912 bytes, BW 100 Kbit/sec, DLY 50000 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation TUNNEL, loopback not set
Keepalive set (10 sec), retries 3
Tunnel source 209.165.202.129 (GigabitEthernet(/1
Tunnel Subblocks
sre-track:
Tunnel100 source tracking subblock associated with GigabitEthernetQ/

Set of tunnels with sou-ce GiganitEthernetd/1, 1 members [includes iterators), on interface <OK>

A network engineer configures a GRE tunnel and enters the show Interface tunnel command. What does the output confirm about the configuration?

A. The keepalive value is modified from the default value.
B. Interface tracking is configured.

C. The tunnel mode is set to the default.

D. The physical interface MTU is 1476 bytes.

Answer: C

NEW QUESTION 129
What does Call Admission Control require the client to send in order to reserve the bandwidth?

A. SIP flow information

B. Wi-Fi multimedia

C. traffic specification

D. VolP media session awareness

Answer: D

NEW QUESTION 130
Which two mechanisms are available to secure NTP? (Choose two.)

A. IP prefix list-based

B. IPsec

C. TACACS-based authentication
D. IP access list-based

E. Encrypted authentication

Answer: DE

NEW QUESTION 134

What is the data policy in a Cisco SD-WAN deployment?

A. list of ordered statements that define node configurations and authentication used within the SD-WAN overlay
B. Set of statements that defines how data is forwarded based on IP packet information and specific VPNs
C. detailed database mapping several kinds of addresses with their corresponding location

D. group of services tested to guarantee devices and links liveliness within the SD-WAN overlay

Answer: B

NEW QUESTION 136

In an SD-WAN deployment, which action in the vSmart controller responsible for?

A. handle, maintain, and gather configuration and status for nodes within the SD-WAN fabric

B. distribute policies that govern data forwarding performed within the SD-WAN fabric

C. gather telemetry data from vEdge routers

D. onboard vEdge nodes into the SD-WAN fabric

Answer: B

NEW QUESTION 137
Which component of the Cisco Cyber Threat Defense solution provides user and flow context analysis?
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A. Cisco Firepower and FireSIGHT
B. Cisco Stealth watch system

C. Advanced Malware Protection
D. Cisco Web Security Appliance

Answer: B

NEW QUESTION 141

Which method should an engineer use to deal with a long-standing contention issue between any two VMs on the same host?
A. Adjust the resource reservation limits

B. Live migrate the VM to another host

C. Reset the VM

D. Reset the host

Answer: A

NEW QUESTION 143
Refer to the exhibit.

]

g G0/f0
PC-1 '
172.16.0.2 “e) WEB SERVER

O 192.168.0.5

PC-1 must access the web server on port 8080. To allow this traffic, which statement must be added to an access control list that is applied on SW2 port GO/0 in
the inbound direction?

A. permit host 172.16.0.2 host 192.168.0.5 eq 8080
B. permit host 192.168.0.5 host 172.16.0.2 eq 8080
C. permit host 192.168.0.5 eq 8080 host 172.16.0.2
D. permit host 192.168.0.5 it 8080 host 172.16.0.2

Answer: C

Explanation:
The inbound direction of GO/O of SW2 only filter traffic from Web Server to PC-1 so the source IP address and port is of the Web Server.

NEW QUESTION 144
A customer has recently implemented a new wireless infrastructure using WLC-5520 at a site directly next to a large commercial airport. Users report that they
intermittently lose WI-FI connectivity, and troubleshooting reveals it is due to frequent channel changes. Which two actions fix this issue? (Choose two)

A. Remove UNII-2 and Extended UNII-2 channels from the 5 Ghz channel list

B. Restore the DCA default settings because this automatically avoids channel interference.

C. Configure channels on the UNIk2 and the Extended UNII-2 sub-bands of the 5 Ghz band only
D. Enable DFS channels because they are immune to radar interference.

E. Disable DFS channels to prevent interference with Doppler radar

Answer: AE

NEW QUESTION 148
An engineer is troubleshooting the Ap join process using DNS. Which FQDN must be resolvable on the network for the access points to successfully register to the
WLC?

A. wicbostname.domain.com

B. cisco-capwap-controller.domain.com
C. ap-manager.domain.com

D. primary-wlc.domain.com

Answer: B

NEW QUESTION 153
An engineer is concerned with the deployment of new application that is sensitive to inter-packet delay variance. Which command configures the router to be the
destination of jitter measurements?

A. Router(config)# ip sla responder udp-connect 172.29.139.134 5000
B. Router(config)# ip sla responder tcp-connect 172.29.139.134 5000
C. Router(config)# ip sla responder udp-echo 172.29.139.134 5000
D. Router(config)# ip sla responder tcp-echo 172.29.139.134 5000

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 350-401 Dumps From Exambible
exam blb|@ https://www.exambible.com/350-401-exam/ (619 Q&AS)

Answer: D

NEW QUESTION 158
Refer to the exhibit.

Antenna 3D Radiation Pattern

Which type of antenna does the radiation pattern represent?

A. Yagi

B. multidirectional
C. directional patch
D. omnidirectional

Answer: A
Explanation:

A Yagi antenna is formed by driving a simple antenna, typically a dipole or dipolelike
antenna, and shaping the beam using a well-chosen series of non-driven elements whose length and spacing are tightly controlled.

Reference: https://www.cisco.com/c/en/us/products/collateral/wireless/aironetantennas-accessories/prod_white_paper0900aecd806ala3e.htm

NEW QUESTION 163
What is the centralized control policy in a Cisco SD-WAN deployment?

A. list of ordered statements that define user access policies

B. set of statements that defines how routing is performed

C. set of rules that governs nodes authentication within the cloud
D. list of enabled services for all nodes within the cloud

Answer: B

NEW QUESTION 168

At which Layer does Cisco DNA Center support REST controls?

A. EEM applets or scripts

B. Session layer

C. YMAL output from responses to API calls

D. Northbound APIs

Answer: D

NEW QUESTION 173

How is Layer 3 roaming accomplished in a unified wireless deployment?

A. An EolP tunnel is created between the client and the anchor controller to provide seamless connectivity as the client is associated with the new AP.
B. The client entry on the original controller is passed to the database on the new controller.

C. The new controller assigns an IP address from the new subnet to the client

D. The client database on the original controller is updated the anchor entry, and the new controller database is updated with the foreign entry.
Answer: A

NEW QUESTION 177
Drag and drop the wireless elements on the left to their definitions on the right.
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bearmwadth graph that shows the relitve Ntensty of the agnal strength
of & antérna within its space

_ he relitve NoréeEs N agnd Srength of an ténns N 3 gven

polarzation t recton
1 adstion patteers mesare: the angle of an nterna pattem n whch the nmbrel
Sond stréngth & hat Dowee DElow TNe Madmurm vaus
if.ldqtmd olpctromagretc waves that nfuence the onortation
o of an antérna withen 5 alectromagrenc fiedd

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Chart, line chart Description automatically generated

NEW QUESTION 181
How does an on-premises infrastructure compare to a cloud infrastructure?

A. On-premises can increase compute power faster than cloud

B. On-premises requires less power and cooling resources than cloud

C. On-premises offers faster deployment than cloud

D. On-premises offers lower latency for physically adjacent systems than cloud.

Answer: D

NEW QUESTION 184
How are the different versions of IGMP compatible?

A. IGMPv2 is compatible only with IGMPv1.
B. IGMPv2 is compatible only with IGMPv2.
C. IGMPv3 is compatible only with IGMPv3.
D. IGMPv3 is compatible only with IGMPv1

Answer: A

NEW QUESTION 185
Refer the exhibit.

Chicagodthow 1p aip! mad

Ll 112282

Neighbor 1D Pri  State
3.3.1.3 1 FULL/BOR
1.2.2.2 + ALY -
(hicagor

Chicapolchow ip oep! irt bri
Iatarface PID Area

Fald'@ 1 1

S22 1 1

Chicagol

C5PF rea 0

lod :8.4.8.4/32

Pead Time
[T ER
02

IP Addresi/Mack
182.168.2.17 24
192.168. 8.0/ 24

Address Trterface
192.164.2.3 FactEthereatd @
192.168.0.2 Serialdig

Cont State NBErs F/C
L3 Do 111
S5 PR 1N

Which router is the designated router on the segment 192.168.0.0/24?

A. This segment has no designated router because it is a nonbroadcast network type.
B. This segment has no designated router because it is a p2p network type.

C. Router Chicago because it has a lower router ID

D. Router NewYork because it has a higher router ID

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM 350-401 Dumps From Exambible
exam blb|@ https://www.exambible.com/350-401-exam/ (619 Q&AS)

Answer: B

NEW QUESTION 186
Drag and drop the characteristics from the left onto the protocols they apply to on the right?

D5PF
ma Dvjcstran Thortest Path Pt sigor @ r .
e Dffumed Lipciste Algor BT l
pa Daratsiclh deley | relaDaly e el for routryg et e =3

-

A N BT DO

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Diagram Description automatically generated

NEW QUESTION 191
Which method of account authentication does OAuth 2.0 within REST APIs?

A. username/role combination
B. access tokens

C. cookie authentication

D. basic signature workflow

Answer: B
Explanation:

The most common implementations of OAuth (OAuth 2.0) use one or both of these tokens:
+ access token: sent like an API key, it allows the application to access a user’s data; optionally, access tokens can expire.

+ refresh token: optionally part of an OAuth flow, refresh tokens retrieve a new access token if they have expired. OAuth2 combines Authentication and

Authorization to allow more sophisticated scope and validity control.

NEW QUESTION 192
Which protocol is used to encrypt control plane traffic between SD-WAN controllers and SD-WAN endpoints?

A. DTLS
B. IPsec
C. PGP
D. HTTPS

Answer: A

NEW QUESTION 196

Which technology is used as the basis for the cisco sd-access data plane?
A. IPsec

B. LISP

C. VXLAN

D. 802.1Q

Answer: C

NEW QUESTION 197

What is the function of a VTEP in VXLAN?

A. provide the routing underlay and overlay for VXLAN headers

B. dynamically discover the location of end hosts in a VXLAN fabric

C. encapsulate and de-encapsulate traffic into and out of the VXLAN fabric

D. statically point to end host locations of the VXLAN fabric

Answer: C

NEW QUESTION 200
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Refer to the exhibit

Hotdesks H'g '

Which single security feature is recommended to provide Network Access Control m the enterprise?
A. MAB

B. 802.1X

C. WebAuth

D. port security sticky MAC

Answer: B

NEW QUESTION 201
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